g Mo >
= 5 38
3 I S S % o
5 10
1072
1072
.9107%_...&....I....I....I....I.... .9107%_...&....I....I....I....I....
£ [ I
Vg e 3 |111111111|1111111uuuuuuuullllluull|
it |||||||u||||nm|mnm||mmnmnnnmnn| s ||“]'[IIIHIIH'IIIIHIHTIIInmllﬂﬂlllIII|||||‘
0953 == 0 T2 3 0923 T 0 T2 3
TP n (PCA to beamline) TP n (PCA to beamline)
! Vif L%_s ecgtessl

tfzgsep@zz%

t—specPLess4
=) £
5 S
::? o'
) o
3 e}

i} : : : : :

8 S S S S

M E e an]
LR s

0953 ——==T 0 T2 3

TP n (PCA to beamline)

I [ e e

=

D_l—

o

o}

107}

1072

9 J..U;l_

s ol o :ooor o

x E e e e g g
;: UTIII:IIHIIIIII:IIIIIIIIII:IIIII|IITI:I||||]||II:IITI||
095310 T2 3

TP n (PCA to beamline)

||||I§llllll||11§11111|1111511111uuﬁullllllllil||||

|||||;|||||||I||;||||m|||:II||II|H|;|IIIIII|I|;|||||

0 1 2 3
TP n (PCA to beamline)

-2 -1



	Contents
	Page 1


